B.Sc. PHYSICS
FIFTH SEMESTER

wer from the following:

M}i\&‘i&ﬁ\. ian L=L(qx, qx, t), where k=1
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b. V(@k G t) — T (qi)
d. T (qx. t) =V (G, G t)
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A moving train contracts its length by 80%. Its speed will be
a. 0.8c b. 0.6¢
c. 0.4c d. 0.1c

The reduced mass of a system of point masses 2M and 4M will be

a. 3M/2 b. 3M/4

c. 4M/3 d. oM

Two photons moving along the same direction. Therr relative velocity will be
a. ¢/2 oy, C:

CR2C d. ¢/3

The interval between two events will be time-like in Minkowski space-time provided
a. ds:>0 b. ds* <0

cldss=10 d. ds* =0

In null come, a light-like curve makes what angle with the time-axis?

n
a. g b. -
C. 3 d.

The electric field in terms of electromagnetic potential will be

a. E = ——V:(p~'—]§ b. ,'1' : \;:-p =

c. E=-Vo a;—(‘ d. E=Vp+2
The Hamiltonian of a system will defined by

a. H = X peGe — L(qu Gis ) b. H = = X pebr — L(qx: i )
c. H = L(qx: Qi ) — X PrGi d. H = EpuGic + L(Qu. Gxs )
The relativistic mass-energy relation will be

as Et'=ntci+m=ct b. E? = p?c* + m3c?

Gl PR = R R K d. E = p*c* + m*c?

- For a conservative force field F,

A. VX F=0 b.V-F=0
c. grad F=0 d.V:F =0

. A dynamical variable F is a constant of motion if and only if

a. [F, H;] = &

b. [F.i] =1
c. [F,HI=0

d.|[F,H]#0

T'he path a planets revolving around the sun is elliptical. Its total energy will be
- k 2k
A ™ e b. E=-=

c. E=- d. E==
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